
EECS3311 Software Design (Fall 2020)

Q&A - Lecture Series W8

Monday, November 9



In lecture 8a part 2 we started by the motivation example: 
an array with a mixture of polymorphic types ( STRING, DATE) 
and the problem is that how to have single choice for accessing 
and casting each element. 

How does generic solve this problem? 

I mean using Generic changes the problem statement. Giving us 
an array of G not mixture of G, H, ...



General vs. Generic Book p1: IPHONE_XS_MAX
p2: IPHONE_11_PRO
create p1.make
create p2.make

b1: BOOK
b2: BOOK[IOS]

create b1.make
create b2.make
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⇒ execute from STATE is not really
a common template for all state descendant
classes to use .



-

#

mine : III.
- Tp -

create fIP¥PR3 mate . make

mine - quick-take #That attached?
ad-TP.gxk.to#


